Enroliment NO....ovvvvevecee e,

Bachelor of Science (Agriculture)
Third Semester Main Examination, December 2021
Agricultural Finance and Cooperation [AEC521]
Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.
Student should not write anything on question paper

qre : wft 9 @ aifard ) faeeff yva w g e 9
Part-A (vr1—a1)

This section contains objective type questions. Each question carry 1 marks.
39 T # aTe UBR & ued 2| Weld T BT UE ofd i |

Q.1 Multiple choice Question / %< w1 [1x10=10]

(i) “NABARD?” came into existence in the year
e 9 af afa@ W amar?

(A) 1985 (B) 1982
(C) 1989 (D) 1984
(i) The minimum support price are announced by-
ATH FHA Hed Bl SO B WA B
(A) CACP/igiq (B) State Govt. / 30 WR&R
(C) NITI Aayog / fy amaw (D) Central govt./ d=3RaR

(iii) The headquarter of APEX Bank is located in Madhya Pradesh-
e d& @l ey weey i Red 2-

(A) Bhopal / <t (B) Indore / s<=R
(C) Gwalior / TiferRr (D) Jabalpur / Siaergy

(iv) Bank was setup to issue notes, regulated and seeuining monetary stability in the
country is known.
%ﬁgmmﬁuﬂﬂmw%ﬂaﬁwaﬁwﬁmmwmmél
(A) NABARD / 7maré (B) Financial department / faxva sramm
(C) RBI / arvdad (D) NITI Aayog /it amatm

) How many numbers of banks nationalized so for in the year 1980-
W 1980 H fbe bl BT IISABOT g AT—
(A) 19 (B) 14
(©)20 D)9
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(vi)

Regional Rural Bank is also called.
g wfior 4 A Her W 2

(A) Co-operative Bank / Hgsmidr &6 (B) SBI Bank / = &=
(C) Rural Bank / arfwr d&% (D) KCC / 1.
(viiy  NABARD is instruction.
TATE Th e 81
(A) Independent / T
(B) Under RBI / airdiang @ el
(C) Under finance ministry /s wareta & ardd
(D) None of these /37 9 &g =gt
(viii) ~ When was the pradhon mantir fasal bema yojana started ?
SRTTHE wE faA A $9 9 g8
(A)2018 (B) 2016
(C©)2014 (D) 2015
(ix) What is the full name of IRDF.
AR A T BT QR ATH TR
(A) Rural Indian development fund / w3 $€109 SadUH< HUS
(B) Rural institutional development fund / el SREFIM STATHT HIG
(C) Rural Industrial development fund / w7 se=Igd SaaiT HUg
(D) Rural infrastructure development fund / ¥Re STREFR STANAT HUS
x) What is the full name of E-NAM
AW BT R AT I R
(A) Electronic national Agriculture market / geleell~ & = $Y IR
(B) E-Electronic artificial market / $—soaeife ot Hfiom som
(C) E-NAM agriculture market /3—m &Y TR
(D) None of these /3794 &1 ®Is &
Part-B (w17-9)
Short Answer type questions. Each question carries 2 marks (any 5) [2x5=10]

Y I I | TS 9IS B 2 3 fwiffta &1 (@K 5)

Q.1

Q.2

Q.3

Define agriculture [inance and tis meaning .
@i fiw ol gaa atef a1 ufonfig a7

Define cooperation and its meaning.
@i 3R gwrd aref oY ufvmfie ol

Write the types of credit based on security.
REM & AR TR ARG & U [l |
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Q4

Describe world bank.

faza § &1 gviH i |

Q.5 Explain the credit guarantee corporation of Indian. .
RN B TR o & g Ffa
Q.6 Define 3 R of credit management and describe returns from the investment.
#O1 yde & 3 R ®1 aRwifia e ofk frawr & wry arosf) a1 qofq &fvrg
Part-C (v m—=)
Long Answer type question. Each question carries 5 marks (any six) 5x6=30

el ST ww | ue B 5 g fwifa @) @ B)

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q8

Describe the 7ps of credit management with an example.

SETERYT e Ro1 wae & 7ps ®T JuiA By

Define NABARD and describe their function objective, organization and
financial statement.

TS B gRaIfia B ok 3w Bl 9, Wirew dun Ay RAaxer @1 9o @y

Classify the credit with example abused on liquidating and approach.
axerar Tl [Gfte @or @ oM R IgEey aRkdd a@ @ diiavr ifon |

Describe principle and objective of cooperation and describe structure of
cooperative institute.

& IRY AR R @1 avia RN gon wEe™ deel @ wxaar a1 qo
FIfY |

Define RRBs and describe their objective, functions, capital, management and
progress.

RRBs @1 oReafyd #IRq olRk Swa Sqewd, ol gofl, gaod ofR iy @1 aof
DI |

Describe non institutional sources of credit.

U & IR WANTG SdT BT goig i |

Describe NAFED and NCDC.
Ahe G TSI BT guiE A

Describe farmer services societies and single window system.

frarm Jar wfiell wen vae fegsal yomel @ avl #ifg
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Enrollment No....covvevrvveerserrer e
Bachelor of Scicnce (Agriculture)

Third Semester Main Examination, December-2021
Agriculture Informatics [COMS521]

Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.

e :

Q.1
(0

(i)

(iii)

(iv)

v)

Student should not write anything on question paper.
wft ol arfvard @) faeneft yema w @ fad i
Part-A (MT1—3)

This section contains objective type questions, Each question carry 1 marks.

39 I A GAS TR B U §| Udd U @1 UF ofF MEiRg 2
Multiple choice Question / axfTs ¥ [1x10=10]

Table prepared by-
29 g9 @ fg 379 A fraer SwanT gar 8-

(A) MS word/ trgg @€ (B) MS excel/ vaga vaaa
(C) Power point/ tfer urse (D) Power prasent/ dfax woie

C++ language is -

CHTeT B

(A) Hard level language / 71¥ <laat @
(B) Low level language / & @iad oidw

(C) Middle level language / #emm @offa @i

(D) None of these / 37 & &g 787

RAM stands form-

RAM &1 @@ 95—

(A) Random Access memory (B) Random Authorized memory
(C) Read Access memory (D) Read only memory

Arrange in Acceding order the unit of memory-

AR BT THIS BT ged HA H 9|

(A) TB>MB>GB>KB (B) TB>GB>MB>KB

(C) MB>GB>TB>KB (D) GB>MB>KB>TB

Which on of these stores more data than a DVD -

AR ¥ TR A B ¥ A § =R B -

(A) CD Rom (B) Floppy

(C) Blue Ray Disk (D) Red Ray Disk Page [1]




(vi) Using microsoft word we can simply............. -
TEFIE IS B IWINT 87 PR Abd a—
(A) Paste picture (B) Type
(C) Format a text (D) All the above function

(vii)  RAM s also called as-
W B AR BT A 8 |-

(A) Virtual memory (B) Volatile memory
(C) Non volatile memory (D) Cache memory

(viii)  Who is the fater of Computer-
FFIYER B U 1 8-
(A) Allen Turing (B) Charles Babbage
(C) Simur Cray d (D) Augusta Adaming

(ix) The brain of any Computer system is-
B8 I Hgex &1 TArT Bar 8-

(A)ALU (B) Memory
(C)crU (D) Control unit
(x) All the deleted files go to-
w1 gerg ¥ Bisal ¥l WKl 8-
(A) Recycle Bin (B) Task Bar
(C) Tool Bar (D) My Computer
Part-B (¥r1—4)

Short Answer type questions. Each question carries 2 marks (any 5)
Y IR U | TS U B 2 35 FiRa &1 @ 5)

Q.1 What is Hard disk?
B¢ few ga1 27

Q.2 Explain Data types ?
3T B TISY BT AN |

Q3 Introduction to MS word.
TG, a8 &1 9Rag Y|

Q4 Write only input and output devices name.

$TYe oY ASeye f¥argd @ daer AW foifay |

Q.5 Introduction to Visual Basic.
fasras Ife o ufvma g

[2x5=10]
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Q.6 Short note on Soil information system.

ATgd 3BT Riven @ wfera ® aamed |
Part-C (vm1—=1)
Long Answer type question. Each question carries S marks. [5x6=30]
< Sy we | W ueEl & 5 ofe feiRa 2

Q.1 Difference between C & C++.
C iR C++ % 4 iR fofag |

Q.2 Define Crop calendars using IT tool.
IT SYHION BT ITANT TR HHA HATSY Bl A |

Q3 What is Operating system and its types.
AffRfeT Rres @r 21 ok 5398 IR a1y |

Q4 Describe preparation of Contingent crop planning.
AHRAS B (A BT a8 B R qergy |

Q.S Explain DOS commands with example.
T 3 FHEH S TAAEY | IaE0 B W |

Q.6 What is DBMS? And its use in Agriculture.
o & v W w2 R TS BN A a9 ST B

Q.7 Write short note on:-
(i) WWE

(ii) E- Agriculture
(iii) C+ C++

Q.8 Write short note on :-
i)CPU

i) ALU

iii) RAM
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Enrollment NO...iiveeesnineaans

Bachelor of Science (Agriculture)
Third Semester Main Examination, December-2021
Farm Machinery and Power [AGES521]

Time: 3:00 Hrs Max Marks : 50
Note : All 3 sections are compulsory.
Student should not write anything on question paper

dte w3 afaed ) Rarefl ywgs ) g9 e wd |

Part-A (am—31)

This section contains objective type questions. Each question carry 1 marks.
= @ # awTE SR & W | uellm uv @1 U ot ReiRa ?

Q.1 Multiple choice Question / a1 o= [1x10=10]

0] One Hp is equal to-
TS EAUMER aviaw 8 28—
(A) 246 watts / 246 @Ie
(B) 250 watts / 250 a1
(C) 746 watts/ 746 @Tc
(D) 440 watts / 440 @ic

(ii) Heavy smoking in an engine in operation may be be due to -
TATET | g # AN A @ BN 8 ] 2
(A) Overloading/ sfiazaifen (B) Mixtures/ fAsror
(C) Late injection/ <% ¥ guiae (D) All of these / SwRIad &)

(iii) In four stroke engine there is one power stroke for every- revolutions of the
crakes shaft
IR TS oM ¥ Db I B UAD B & (30 U UleR w2 28—

(A)1 (B)2
©3 (D)4
(iv) Tractor engine oil should be changed and all grease points should be lubricated

after every working hrs-
Y FlF TR & H B A5G-
(A)20
(B) 50
(C) 80
(D) 120
Page [1]




™)

(vi)

(vii)

(viii)

(ix)

(x)

Optimum engine temp is about how many degree-
%A 3ol qruAE feas R gar 23—

(A) 60 (B) 82
(C) 92 (D) 120

Which of the following is not a hand tool-
[ A &1 A BT FT ITIROT TH B

(A) Mould Board / ice 18 (B) Shorel / @iR&
(C) Spade / Fared (D) Mamaunty / 5HiY

Power tiller operate most satisfactory with -
R e s W1 weal ddNerd oM dwd e

(A) Rotary tillage / 923 o (B) Plough /5=
(C) Transport carts / alRas1 Imswar (D) Reapers / QxR

A thresher couses more seed damage if-
W AR R i &l P FRU g 2 Al —

(A) Speed is increased / 71fa g W< 2|

(B) Clearance is increased/ aefiava e f&ar ma1 2|
(C) Feed rate is reduced / s &3 & &1 Il 21
(D) Speed is reduced / 7f7 &9 & 9T 2 |

Who is father of tillage-

aReRer & fiar 5 et oI &—

(A) G.B triplet /S fgwre (B) Jethrotull/ SteRigd

(C) Dokuchalev/ srgaa (D) V.V mundkar/ did), g<ax

The tillage pattern are -

(A) Hand land pattern / g s g
(B) Gathering / fefRm

(C) Casting / &<

(D) All of these / 3 @+

Part-B (¥11—9)

Short Answer type questions. Each question carries 2 marks (any 5) [2x5=10]

@Y
Q.1

Q.2

I 4o | UAF U @ 2 3w FuiRa g1 (@ 5)

Describe the benefits of farm mechanization.

UES GAIBRY B A BT quiE BT |

Different between two strock and four strock.
] We T AR P g9 B IR Iamsy |
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Q3 What is Lubricant. Write advantage of lubricant.
FEd F41 8 | Ted B oM faRag |

Q4 Write the primary and Secondary tillage implements.
mRiftE 9 fglas Sae o3 fafy |

Q.5 What is the farm power. Describe the electrical power.

wH wfad @1 8| faga e @1 aof| BT |

Q.6 Write in brief different type of cooling systems use in IC engine.
aragd goid @t ffi= iiae aomell 1w § ey |

Part-C (W71—%1)

Long Answer type question. Each question carries 5 marks (any six) [5x6=30]

el ITG 9| T v & 5 3 Fifta &) (@ ©)

Q.1 Principle of opration of 4 strock cycle engine with help of diagram.
TR e AEfdd goiv D afas o weret e

Q2 Why need of mechanization with its advantage.
TAFROT I MawHRA FN IL | §HD A Ay |

Q.3 What is planter main parts of planter and preclusion use planter.

e} T} | S9D e A1 ey vd I9d JE HRa Wd et g |
Q4 What is Tillage. Explain types of Tillage.
JATE T 2| A8 B yBR fafay |

Q.5 Describe the M.B plough with help of write the main parts of M.B. plough.
i) Tole Bo1 B WSS 9 SHS g Ani @l aofa e

Q.6 Explain the sowing by seed drill and describe the main components of seed
drill.
R & g Ry &1 wwssd vd Megd @ 9= i @1 vl S

Q.7 What is combine harvester its advantage and disadvantage.

FHHEET FRATR T 2| I aM vd gt fafag

Q.8 Explain the factor affecting draft of plough.
&l B g™ § B 39§ IRG v91T IR © | ARy |
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ENTONITENL NG

Bachelor of Science (Agriculturc)
Third Semester Main Examination, December 2021
Production Technology for Vegetables and Spices [HOR521]

Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.
Student should not write anything on question paper

Ae : wft fF a7 fvard ) faaeff ywes w® w1 o w9

Part-A (9r1—37)

This section contains objective type questions. Each question carry 1 marks.
¥ g A TS UeR @ e & yeld Wi @ U o Buife R

Q.1 Multiple choice Question / axqfs ye= 1x10=10
(i) Seed rate of onion is -

g BT A g B

(A) 300-400 kg/ha (B) 40-50 kg/ha

(C) 20-25 kg/ha (D) 10-15 kg/ha
(i) Edible part of fenugreek is a -

HIE F @R A 9 R

(A) leaves / gear (B) fruit /

(C) Seeds / &t (D)botha & ¢/ w 3R & =T
(iii) Greening of potato result in -

AT T &9 7 B BT &y R

(A) Solanine /9@fAm (B) Lycopene / agaifes

(C) Chlarophyll / a<irifrer (D) All of the above / SuRta o)

(iv) Origin of tomato is .
TR &1 Jafed I 8 |

(A) South America / gféror apifRer (B) India /vr=a
(C) Central Asia / wea i (D) China /=g
) Which spice is known as " Queen of spices " -

e 7 @ 59 79 B menel @ I ben o ® —
(A) cinnamon / gTar AW

(B) Black pepper / e fird

(C) Turmeric / &=t

(D) Cardamom / gy
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(vi) Family of carrot is
MR &1 9RaR & —
(A) Cruciferae / gHBQ (B) Malvaceae / #reraiy
(C) Cucurbitaecac /gm=faf (D)Apiaceae (umbellifers) /ufaw
(vii)  Bonaville is a variety of .
Al fe wal @t va fer & —
(A) Chilly / fad (B) Pea/ sex
(C) Brinjal /&m (D) Tomato /e#Hlex
(viii)  The deficiency of vitamin —C caused by -
faei@s =0 ) &9 9 9 e T -
(A) Night blindness / 3ty (B) Scurvy /w5t
(C) Pneumonia / =gaifaar (D) All of these /SRy Wit
(ix) Seed rate of tomato -
THIRR & 49 &% 8 —
(A) 400-500 g/ha (B)200-300 g/ha
(C) 500-700 g/ha (D) 250-350 g/ha
x) The propogation of garlic -
A b1 Ul [Faa g faar snar & —
(A) Colves (bulb) / T3 (B) Corm / &1+
(C) Seeds / §51 (D) Cutting / 5
Part-B (9r—7)
Short Answer type questions. Each question carries 2 marks (any ) [2x5=10]
Y ST GeE | gdlE 9 B 2 o FuiRa 2 (@1 5)
Q.1 Describe seed plot technique in potato.
g # s = aaEtian @ W |
Q.2 Write the botainicl name and family of any five vegetables crops.
f=1 dte wfEsmal el Gaet @& arFrelos T AR we fova |
Q3 Write the name of physiological disorder in tomato.
earex & [pfaianforme fevandy @ wm fafay
Q4 Nurscery preparation for onion crop. .
@ & R TR R @) A o wmEngy )
Q.5 Explain seed extraction method of bninjal. .
4 A @7 e AR & EEy |
Q.6 Define isolation distance.

A g @l afomfia Pfe |
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Part-C (vm—4)

Long Answer type question. Each question carries 5 marks (any six) [5x6=30]
< Iy | A ueEl @ 5 o [FEifvd 21 (@ B

Q.1

i)
ii)

Q.2

Q3

Q4

Q5

Q.6

Q.7

Q.8

Write the four important varicties of each crop with its charcter.
e el & TR weeyt el @ A fafEan g St Remand ®) deag 4§ fafey |

Turmetic g (ii) Black pepper @it fid
Cardamon &4 goig=h (iv) Cauliflower garfl

Write the botanical name family origin and chromosome numbers of eae h crop .

T Toet & aTTeaRie A e, S, U au KAl i Rikag |

()  Onion/ @i (ii) Okra/ Py
(i Cabbage / gmmipf (iv) cardomom / &5 semge

Write the cultivation of chilli with special reference to .

fid @ wd #1 e e # fafag

Nursery preparations / dr @ Important varieties / #gwqel f&e
Nutrient / dive T@ &1 ATqegD Irrigation / Ri=rg

Plant protection / B¥el ReT Cultural practices / &eaR Jfdeq

Write down the storage problems of vegetables ?
waAdl & YueReT # o arell wgE wAwy faftay 2

Why there is less production of vegetables and spices in India write down
the problems and their solution.

G ¥ sl e HHrEl B IR BN P BRI Y 99 IR 99D
FHARTT BT TR |

Write the importance of vegetables and spices in human nutrition and
national economy.

g gt § afeadl aer ATl Bl Hed GHSsY U9 (T SiraRen B wasisy |

Write the full package practices for cultivation of carrot -

TR B I+1d Wil B! fAved ¥ goi= #ifeg )

Write down the cultivation practice of brinjal -

d9 o @d @1 e gl @ e R §HIIsY —

Botanical Description / am=ufds fdaror Nursery Preparation/ 4ty &=
Irrigation / Ri=mg Plant protection / & JR&m
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Enrollment NO......ovevreervinnee s

Bachelor of Scicnce (Agriculture)
Third Semester Main Examination, December 2021
Environmental Studies and Disaster Management [EGES21]

Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.
Student should not write anything on question paper.

sre : wfl @9 f afard @ faeneff veus w v ford w1
Part-A  (wr—ar)

This section contains objective type questions. Each question carry 1 marks.
9 At # IS TR $ U & | TAF WA @ U6 e FRiRa B

Q.1 Multiple choice Question / axgfa ww [1x10=10]
(i) They eat both plant and anilmals are clled -

I S O U9 Gy /R @l Wi 8 SR w eEd 8

(A) Herbivores / @Rl (B) Carnivores / ArA@R_

(C) Omnivores / waferl (D) Detritivores / aeed &1
(ii) The biggest flower in the plant Kingdom is -

Fq TS A & ?

(A) Orchid / anfes (B) poplar / diuerR

(C) Rafflesia / Ywlafmar (D) Lotus / &4a

(iii) Which scientist had [irst time used the word ecology -
fFa dsnfe = miRefas v o1 wanT fear on ?

(A) Arnest hackle srie &@a (B) A G tansley T ot <=Ial
(C) W. Johnson s<g &d4 (D) H Kuhan v ggm™
(iv) The world environment day is celebrated on-
fava wafaver feaw w=man S 32—
(A) 5 June /5 S (B) 5July /5 98
(C) 5 September / 5 Ryawr (D) 5 January / 5 STaR)

) Bhopal gas tragedy occurred due to leakage of-
Ao A7 F9E) 5 @ Ran & gd o

(A)MIC (B)DDT
(€)so (D) CO
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(vi)  The most important indoor air pollution is
I FEUl BRG] ATy WgHeT ] —
(A) SO (B)Co
(C)NO (D) Radon gas /37 9

(vii)  The Word environmental is derived from which language -

wafrer o e wen & form mam R
(A) Latin / aifes (B) Greek / fiw
(C) French /%= (D) Arabic /ardY

(viii)  Which of the abiotic components in ecosystem-
= § @ gFIRREA @1 srifded ued 8-

(A) Element / @fas (B) Temperature / am9am
(C) Protein / wiés (D) All of these / StRiaa
(ix) Which of the third consumer in ecosystem?
1 # 9 seIRned &1 gy SuHiaar & -
(A) Human / s1a (B) Rabbit / @z
(C) Snake / @i (D) Big fish / 721 "ol
(x) The term “Ecosystem™ was coined by-
o Rived v fo faan en?
(A) E. Haeckel / f2oa (B) W. Johnson / Sifawa
(C) A.G. Tansley / T5l &~ (D) H. khun/ va. g3
Part-B (wr71—4)
Short Answer type questions. Each question carries 2 marks (any 5) [2x5=10]

Y I 9| TAS U B 2 3fd fmifRa g (@1 5)

Q.1 Write the four human rights,
IR AFAER fafag |

Q.2 Explain wold life protection Act .
T Sig ARefoT AfTam ) wHenEd |

Q3 Write the sources of renewable energy.

e IO B ) Bl (el |

Q4 Explain about biodiversit
@ [Afee & ar # g |

Q.5 Define defferent types of environmental pollution.

fafe~ v @ wafawor ggEm & ar # gfvnite fEfe |

Q.6 Explain the importance of natural resources
GRS A B 7S I |
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Part-C (v171—%)

Long Answer type question. Each question carries 5 marks (any six) [5x6=30]
e I g | Wit weEt & 5 ofw [eifa € @R v)

Q.1

Q.2

Q3

Q4

Q.5

Q6

What is biodiversity, Explain various diversities and concept of not spot of
biodiversity .
S ffdem @ aw v @ anen i |

Describe detail the natural disaster .
iR Your & YR B AR @ AHAEY |

Define the terms. = @1 aRfia i

gfRer &1 g aief 87 waiaRer & WE 9 Mavddar W wEl I |
i) Nurture disaster. U¥AT] TS

ii) Forest fire . ST &1 AT

ii) Chemical disaster sram@fTe g

iv) Removable Energy. i 3sit

Explain in detail the impact of climate change on Indian agriculture.
wedry U @ ANy glg W Tsn 9 W s aER @ e |

What are Natural Resources? Write short notes on renewable and non-

renewable resources.
ATl e €2 TR e s WAl w feaefl fafav

Define ecosystems and describe the concept of ecosystems.
mfvReifEd o1 aftnfia Sifen geon mivfeifas) 42 & smamer o1 9 ST
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Enrollment NO.....oooveveiceiciiiies

Bachelor of Science (Agriculture)
Third Semester Main Examination, December 2021
Statistical Methods [STAS21]
Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.
Student should not write anything on question paper

e« wft I ot erfrard ) faeneff yog «wr @y fod =Y
Part-A  (|m—a3i)

This section contains objective type questions. Each question carry 1 marks.

39 71§ TGS TR B ue 2| yde W @ U e FefRa 2

Q.1 Multiple choice Question / IR 9e7 1x10=10
Q) Relation between Karl Pearson’s B and y coefficients -

F1e g & B g y el #§ e i

Ay = =/B ®) VB =11

©)y:=4h D) V71 = /B
(i) Which is true relation -

T W DIT A Y Gl 8 —

(A) (Variance)’ = standard deviation / (3=v)’ = #re frerer
(B) Variance = standard deviation / svffemwor go=or = #196 faoe=
(C) (standard deviation)’ = variance / (& frere=)? = geRor
(D) None of them /39 A ¥ &g &

(ii1) Formula of mean deviation / 7 fame &1 93 2|

(A) 6y = ~ Zlx — M| (B) 8y = ~ Zlx — M|
1
(C)bm = 7 Zlx — M| (D) bm = Zlx—M|
(iv) The Karl Pearson’s coefficient of correlation y-
et fTe AEwE qOTd -

(A) Lies between -1 and +1 /-1 91 +1 & = &
(B) Less than 1/ 1 & ®IeT 870

(C) Greater than 1 /1 &/ 9T &nT

(D)o

(v) The value of P(¢) is-
P(¢) &1 A 2-
(A) 1 (B)0
(C) Greater than 0 but less than 1 /0 & a1 w=g 1 & BleT (D) None / ®1¥ =&t
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(vi)

(vii)

(viii)

(ix)

(x)

The equation of regression line of Y on X is -

Y 9 X Wy @ xar & TR |
(A)Y-My=r(0,/ 0, ) (X-My)  (BYX-M,=r(oc,/0y)(Y-M,)
©) Y- M, =X - My (D) None of these/ 378 & oI T8

A bag contains 5 white and 12 black balls. The probability that a white ball is
drawn from the bag is-

TF I F 5 BT G 12 Brefl 1S R 39§ wwe Vg et & uriiedr qar gl
(A) 517 (B) 5/12 (C) 12/17 (D)0

When two dice are tossed then sample space will be / 519 &1 9191 & 12T IS8Tl W
9 e W &

(A) 36 (B) 30 ©) 6 (D) 0

When a coin and a die are tossed together then sample space / 59 T& @@ den o=
T W1 SVTl S T A W BN

(A) 12 (B)6 )2 (D) None of these

Relation between mean deviation and standard deviation / #ieg fa=re™ g 9Ma
faae & ™g TR 8-

(A) S.D. > Mean deviation / A fdeer1 > Area fagerd
(B) Mean deviation = S.D. / #reg o = #+a fd9ret
(C) S.D. <Mean deviation / #H& e < Ara fJgem
(D) None of these/ 37 & @8 &

Part-B (¥r—9)

Short Answer type questions. Each question carries 2 marks (any 5) 2x5=10

oY I 9T | UAF WA @ 2 3% fagiRa &1 (@Y 5)

Q.1

Q2

Q.3

Q4

Q.5

Q6

Define mean, mode and median.

FHAICR A, ARSI G IEAD BT AHLATSY |

Define Descreat Random variable.
I ATGToed IR B FHEIEY |

Write any two application of y°.

v’ 1 ruanT ARy |

Write characteristic of Binomial Distribution.

Rowe wia & 1T fifay |

Find the probability of throwing on even number with a die.

el IR BT B IR TH ARAT I BT Gl Sd DI |

Define correlation and types of correlation .
TEHE BT GAET T2 TP YBR (AR |
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Q.1

Q2

Q4

Qs

Q.6

Q.7

Part-C (vm1—¥)

Long Answer type question. Each question carries 5 marks (any six) 5x6=30

e 5ol g 9l ueHl B 5 o FaiRa €1 (@7 ©)

Find the coefficient of correlation from the following data-

faw Ty anmel W wEEE UG S HIfTe—

X: 1 2 3 4 | 5

Y 2 5 3 [ 8 7

Calculate Karl Pearson coefficient of correlation between age and weight of the
children.

w

Age(Year) 1 2 3 4

Weight(Kg) 3 4 6 7 1

o

T T ATl ¥ MY g Iod (MR) @ e STel IR Fede T[Oa §0a alford—

341y (@rel) 1 [ 2 3 4 5
TR (1) 3 4 6 7 12

Find the mean and median of the following -

o v el & ford vy 9 wiftae®r sa HIRT |

X 2 4 6 s | 10 |
Y: 3 2 5 [ 7 7

If 3% of electric bulb's manufactured by a company are detective find the
probability that in a sample of 100 bulbs exactly 2 bulb's are defective.

b FHH gR1 AT 3% g g @v@ 21 99 afear 9 $%i SEfe Be ded 100 B 2
GR el B AT BT AW BIIG ?

Find a binomial distribution for the following data:

fQq M7 Afdet & oy faug gaR s Hif—
X: 0 1 2 | 3
Y3 28 62 10 | o4 |

Define line of Regretion and write formula of line regretion of x on y and line of
regretion of y on x.

GRMTHA @Y N Bl WHSISY AT XN X B y WS Y@ y @ X X O gReTEA
faRay |

Find the covariance of the following data:

(1,4),(2,2),(3,4),(4,8),(5,9), (6, 12)

f&Q 7Y 3rieel & 1Y AETRRET ST BIoTT—

(1,4),(2,2),(3,4),(4,8),(5,9), (6, 12) Page [3]




Enroliment NO....ocovveeeeeveceneeeenns

Bachelor of Science (Agriculture)
Third Semester Main Examination, December 2021
Livestock and Poultry Management [LPMS521]

Time: 3:00 Hrs Max Marks : 50

Note : All 3 sections are compulsory.
Student should not write anything on question paper

e wlh fiF o afard &) faeneff yvam uv g fad A

Part-A (\T7--37)

This section contains objective type questions. Each question carry 1 marks.

= 91§ RIS TER B U E | UDAS TR B TS e FEilR B
Q.1 Multiple choice Question / TGS w1 [1x10=10]

()

(i)

(iii)

(iv)

Tharparkar is a breed of -
YRIRIR T &

(A) Baffalo /%9 (B) Sheep /s
(C) Goat / g1 (D) Cow /Mg

Which one of the following animals is having highest average fat per cont in
milk ?

e % 9 fedd gu # e o awr @) aierd B 8 ?

(A) Baffalo /%%

(B) Sheep /%S

(C) Goat / T

(D) Cow /7™

Surati is breed of -
il A B 5
(A) Baffalo /%9
(B) Sheep /%<

(C) Goat / 931
(D) Cow /4

White leghorn breed of poultry is suitable for -
FTec TR T B Tl BT ST 8-
(A) Eggs purpose /377 ITEA &G
(B) Meat purpose / A1 S@IE &g
(C) Dual purpose / f&§ 7@ =g
(D) None of these /370 & &g =&
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v)

Which of the following instruments is generally used measure specific
gravity of milk -

9 &1 @19 1 73 gy BT afEie T Ao bR @ BT W AR ST S
(A) Universal hydrometers /gfader grgeifiex

(B) Lactometer / <laeidiex

(C) barometer / IRHIeY

(D) Hydrometer / gEsriiex

{vi) Fat is separated from milk in a cream separator due to -
B AURER I A Y W Ay 7 A fbwad F orem &7 wirdl 8-
(A) Centripetal force / atfy@=vr g (B) Centrifugal force /3@ aa
(C) Adhesive force / smivi® aef (D) Cohesive force / wdaia Tl
(vil)  Which genus belong to goat -
IBY 59 SN | e 2
(A) Equaus / s&as (B) Suidae / gzt
(C) Capra / &g=1 (D) Ovis / amdiv
(viii)  Which is the highest milk producing breed of cow.
T BT BT W e AEH SGIeT gy ol & —
(A) Saliwal / warfgarer (B) Gir / fir
(C) Red sindhi / @rer Reft (D) White sindhi /wwe e
(ix) The gestation period of buffalo is
I @l e fEa A @1 gar 8-
(A)310 Days / 310 fam (B) 282 Days / 282 fa1
(C) 295 Days / 295 fa= (D) 250 Days / 250 fe=1
x) Which goat is known as village goat.
& a@dl @t arier 9ol & AW W ST e @ 7
(A) jamunapari / SFHATIT (B) Barbari / sRe{T
(C) Kashmiri /&e#r (D) Black Bengal / el 9T
Part-B (v177—9)
Short Answer type questions. Each question carries 2 marks (any 5) [2x5=10]

Y ITNG U | YD Yo & 2 3w wilRa ¥ (@18 5)

Q.1

Q.2

Define of animal husbandry ?

9gqureT 1 iRy fafay ?

What is hatching ?
AT ar & 2 Page [2]




Q3 What is common symptoms of sick animals .
faAR 9gal & ATHR e @ B |
Q4 Write the five name of animal disease ?
gl & Uty famia @ A fafey ?
Q.5 Write the characteristics of bhadawori ?
Tl N @ fadwarg ferfag 2
Q.6 What is colostrums ?
R a2
Part-C (v171—%)
Long Answer type question. Fach question carries 5 marks (any six) [5x6=30]

e I o | Y g @ 5 9w feiRa €1 (@ 9)

Q.1

Q2

Q3

Q.4

Q.5

Q.6

Q.7

Q.8

Write the any fours exotic breeds of cow. origin place, milk production and
its characters.

g T BT TR el TRl @ Sl WH gy Saed Ud 99a f[Jewey faRay |

Write the detail of any five breed of goal .
FHRAT B! P2l ufe /el @ N 7 R pds ol |

What is animal husbandary and wirte the importance of animal in

agriculture?

YU @ & AR gy FH BT 7 ARre ferfay |

Write the definition of hay and silage and wirte its fours benefits.

ATgeloT 3R 8 9 gRrer forfay vd 39 =R IR o forflay |

Describe the methods of making animal housing .

IYATATE g9 @1 [T a1 v @i |

Write the detail about murrah breed of buffalo. .

¥4 @ R 7 B R H fawargds fafag |

Write the name and functions of any four equipment used ion veterinary.

uy] fafbedr # SudnT M arel f5] IR w6t & AW g e seaer R |

Write the system of breeding in animal .

qgal # o gonel @ ey |
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Enrollment No...cooecveveeveeneren

Bachelor of Science (Agriculture)
Third Semester Main Examination, December 2021
Crop Production Technology - I (Kharif Crops) [CPT521]

Time: 3:00 Hrs Max Marks : 50

Note : All three sections are compulsory.

Student should not write anything on question paper
Me -l 1 o arfvard &) faeneft yma w g fad €

Part-A (¥TT-3)

This section contains objective type questions. Each question carry 1 marks.
o T ¥ TS YR B U & | U9 UvE @1 0P ofF iR 8

Q.1 Multiple choice Question / RIS ¥& [1x10=10]
(i) Kharif cropis -

TE N T 8 —

(A) Wheat / g, (B) paddy / ar

(C) Potato / arey, (D) gram /=W

(ii) Which is the chief crop of sri lanka in which is self sufficient. -
sficiT 3 g wad B W 8 o g arEteik @ —
(A) Rice /=mad (B) Sugarcane /=
(C) Rubber / 38R (D) cocoa / T

(iii) Soybean is called a wonder crop because it is -
P TR FAA el Al @ fE q§ & -
(A) An excellent protein source (& I WA FIT
(B) An excellent oil seed crop U S fade wfe
(C) High yield potential S=a 3ust &man
(D) Both Aand B /¢ 3R €1 gt

(iv) The crop which is good for diabetic patient -
AT 3 WA & fay o= wuer &
(A) Green gram /%1 (B) Groundnut / gweil
(C) Soybean / ®rad= (D) Cowpea / eifaar

(v) Origin of Rice -
Y BT IR T+ 23—
(A) South-east asia 3T gd wRRmn (B) South west asia zféror uf¥gm g
(C) America 3miRa&1 (D) India e

(vi) Scientific name of maize. -
T PTG W T
(A) Zea mays / foram #= (B) Oryzia sativa / 3R1gaT wrzar
(C) T.aestivam / & wwraH (D) T. dicoccum / &1 SsdiaH
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(vii) Seed rate of green gram in kharif -
W A {1 3 Ao

(A) 8-10 Kg/ha (B) 12-15 Kg/ha

(C) 15-20 Kg/ha (D) 20-22 Kg/ha
(viii) sujata variety of -

a5 &

(A) Groundnut / g7ieelt (B) Cotton / @usg

(C) Sunflower / &urd (D) Maize / w1

(ix) Where is the central rice research institute located in India. -
BRI U AT W FE ) Red -
(A) Cuttak / de& (B) Benglor / #raR
(C) Kolkata / ®lefdet (D) Bhopal / #rara

(x) First high yielding variety of sorghum.-
TR B Bl I A1 o7 aredl fhew g—
(A) SPV-946  (B)SSV-53 (C) CSH-1 (D) CSV-I

Part-B (¥1T-9)

Short Answer type questions. Each question carries 2 marks (any 5)
Y ST T | YAS WA D 2 fF FiRag &1 (@ 5)

Q.1 Deline the puddling in Rice crop.
I B U § TsfiT & aRwifia g

Q.2 Explain SRI sowing method of rice.
o # SRI 919 & R F W

Q.3 Write the names of 5 varieties of the following crops.
Rice, Maize, soybeen, cottan

frfafaa ®aet &1 5 5 fFml & 7w fofe

Q.4 Describe the cultivation of green gram following nead .

e wial & Tea g0 @ Wl &1 9vf |

[2x5=10]

)} Improved varieties 3= & ii) Nutrient management 9iv& T wderA

iii) Pest management 1% wduA

Q.5 Explain the following —
rer B —
i) Blind hoeing 3tht 72 i) Earthing upin sugarcane

Q.6 Integrated water management in kharif crops.
% A & THIbd od Y€ AHegy |
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Part-C (wr—x1)

Long Answer type question. Each question carries 5 marks (any six) [5%6=30]
qd I wea | @ 9= @ 5 ofd PR 81 (@1 9)

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Describe the suitable production technology of urd bean crop under following
heads-

for=foafaa Wil & Ted 988 @ IUGH IATEH qHAG BT qoid Biforu—

a) Improved Varieties /3= f&a

b) Soil tillage and irrigation / 7= + uReRor wd Riwrg

¢) Seed rate and Seed treatment / 911 g U@ 1% IUAR

d) Critical Stages of Irrigation / & 3 Hifded vy e) yield / 391

suggest suitable production technology for napiet gross.
AR v B oY SugTT S@red The B qHa G-

Describe the cultivation of pegionpea under following heads.
a) Improved Varieties / I=a fdi

b) Critical Stages of Irrigation / T @1 wifad sr@wend

¢) Disease & Pest Management /37 U4 diesd Jawerd

d) Integrated Weed Management / Tahlg WRUGAR Ja=IA

Describe the cultivation of rice under following heads-

frrfafad Wit @ qea SR @) SUYR IMTET THAIG BT goiA BT
a) Time of sowing / gars & wHY

b) Seed rate and Seed treatment / 9 3¢ Uq 57 IIER

¢) Improved Varieties / 3=1a fe

d) Fertilizer management /3d& y&erd

e) Methods of sowing.

What are kharif crops ? Explain its utility in India -
T B I R ARG F 3] Ui @Y AR [ AR -

What is the Difference Between rabi and kharif crops with examples -
TG GO G9 I B A A= qAgY ISR Aid—

Economic classification of kharit crops with exampls.

TS Bt o1 Afdfa gefieRe T SeeRT dfka —

Describe the cultivation of Cottan under following heads-
famfafad wRal & d8d Hu @ WAl F1 9viF PIRTe—

a) Improved Varieties / 3= &

b) Nutrient Management / UIN& a« Ya=1T

¢) Pest management / 9y dd YEEA

d) Critical Stages of Irrigation / 5@l &7 ifcas ey
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Enrollment NO.ecivercierinvienes

Bachelor of Science (Agriculture)
Third Semester Main Examination, December-2021
Fundamentals of Plant Breeding [GPB521]

Time: 3:00 Hrs

Max Marks : 50

Note : All 3 sections are compulsory.

Student should not write anything on question paper
e wft T oo sifrard @) faaeff yers w ge fad =

Part-A (¥17—a7)

This section contains objective type questions. Each question carry 1 marks.
= T A g YeR @ WA § | gew w @ uw ofw faeifie @

Q.1 Multiple choice Question / TS ue=

()

(if)

ih

(iv)

v)

NBPGR is located in-
NBPGR fRed 2-

(A) Jodhpur / SqR
(C) Hyderabad/ ggzmarg

Major activity of plant breeding-
ey w1 gE g 8-

(A) Selection / axor

(B) Evaluation / geamsa

[1x10=10]

(B) Tzatnagar / SooidR
(D) New Delhi / ¢ feft

(C) Creation genetic variability / smaif¥ra fafdean

(D) All of these / Sudias wft

Dee-Gee-Woo-Gen is the source of dwarfing gene in/Dee-Gee-woo-gen

I & fov g wwer F Rimiar -
(A) Pearl millet / atoiar
(C) Rice / g@a

Origin of maize-

AR BT Il YA B
(A) China/==

(C) Afarica/ arfser

Colchicine is generally used for-
P AT I9ANT fHar Sar -
(A) Mutation / S@Rads

(C) Charemesome /ToRyd e

(B) Peanut / §awelt
(D) Wheat / 71§,

(B) Mexico / afgant
(D) India / wa

(B) Helerosis/ dax aior
(D) All above / IwRrad
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(vi)

(vii)

(viii)

(ix)

*)

The firstartificial hybrid produced by-

gl FHEm HdR BT IqTe [

(A) Koelzeute / reex (B) Shull /g

(C) Mandel / Fvga (D) Thomas firchild / o wrRarges

Development of embryo and seed without fusion of male and female gamate is
known as-

o1 g 19 BT FHT R g W] gHe @ QA O 9 8 2, | S @Ed B -

(A) Apomisix/ ST (B) Parthenogenisis / argt degfes

(C) Fertilization / == (D) Parthenocarpy / ufefiad}

The broad sense heritability is expressed mathematically as-
eraes 3t arAifTenar i aifveita & @em & o 2-
(A)H=VG+VP (B) H= VG+VP
(C)H=VP+VG (D) H=VG+VP

Full form of RAPD is-

RAPD T g1 19 @1 8-

(A) Random amplified polymorphic DNA
(B) Random ampli polythene DNA

(C) Random Agriculture polymere DNA
(D) Random Amplified poly DNA

A haploid chromosome in another wise normal diploid individual is... ... Hindr
(A) Double monosome / €91 M=

(B) Monosome/ #IHIRAH

(C) Polyploid/ dfefratigs

(D) None of the above / &% @ @13 *ft 781

Part-B (¥r1—3)

Short Answer type questions. Each question carries 2 marks (any 5) [2x5=10]
oY S 99 | UOF 9 @ 2 ofd i € @18 5)

Q.1

Q2

Q.3

Q4

What is the plant introduction .
YTy QR a7 B |

Factors promoting self pollination.
IIWATUT 1 qTdT I aTd HRSP {ARAY |

Explain the apomixes and write their types.
SRS B 7HEY ok 3 yer fafay )

Define the plant breeding & their scop.
OIGY ST T O @1 ofk S AR @) 9eesg |
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Qs Explain the insitu and exsitu conservation.
M T 8T R FRETOT B FHIET |

Q6  Define the plant breeder right and its important.
aTey go SR @ afia SR ot suer wea e |

Part-C (9r1-9)

Long Answer type question. Each question carries 5 marks (any six) [5%6=30]
O S we | @i uEl & s ofw FeiRa g1 (@% 9)

Q.1 Describe the different plant breeding method of self pollinated crop.
e Gael & A= gy wome fafgat an avfa S

Q2 Write the major breeding objectives in detail.
qIey worEA @ aredl v @i

Q3 Explain in detail pureline selection with merit and demerit.
IS durEA Y fAvee § wEE gy e o Qi feify |

Q4 Short notes.
G # fafa |
(a) Male sterility/ =R s=raen
(b) Protogyhy / AT qdur=
(c) Pollination / g=mrer
(d) Bcuk cross / A&T gdwT
(e) Selection/=gd

Q.5 Explain the detail mass selection with merits and demerits.
T§ 99 B HHTEY UF 01 U9 i i)

Q.6 Short notes.
e ¥ fafaq
(a) Self incompanitibity / wrfregar
(b) Hybridzation / @&=vr fafer
(c) Apomixis / IRFTSHA
(d) Cross Pollination / 9RaRToT

Q.7 Explain the synthetic variety & its signific ant.
T a7 BT WASIEY &R g A8 gargy |

Q.38 Explain the wide hybridization and their type.
TR Ol B ARG R IED yaR fHfE |
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